2,800,052

= o
A & 0l & AF 2 E A A
20219 = =20l & LB A JIEISESIH , SILSESIH 2L
Fag=n;
A9oHe & st dl
2 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fal=n. 25,042,526 37,164,607 A12,122,081
= 650,000
s 764,000
< 6,625,000
Al 17,003,526
AR & ot 12,505,015 22,580,534 A 10,075,519
= 650,000
s 764,000
< 3,355,500
Al 7,735,515
HEH M 129,023 353,525 A 224,502
AEHE LS 102,900 324,500 A 221,600
201 2et24d] 92,700 103,000 A 10,300
01 At 22l 92,700 103,000 210,300
OJIzXEAEs & F4&2d ¢
100,000 »9H 33| 2,700
OAEIIA =& =4 &X=
2,000m" x45,000& 90,000
203 YR =2l 10,200 11,500 A 1,300
03 A ZFAH S =AY 10,200 11,500 A 1,300
OALTH U ALAY AHYD =X
2,200,000& 2,200
OHEE A= AIHPR = 8,000,000& 8,000
HEHEY 2229 12,195 13,550 A 1,355
201 Let24d| 12,195 13,550 A 1,355
01 At 22/l 10,395 11,550 A 1,155
ONSALY S24H Y S=2Z NE
10,000& 545 540
OHHEIIH SENMF HME 3,000& 9005 2,700
OAEIIH =BA BHHE ¢
2,650& *2,7000H 7,155
03 &Ar2 I 1,800 2,000 A 200
OA&e & A=A 1,800, 000& 12l 1,800
Ot 2| A EH ZAFXIE 13,928 15,475 A1,547
201 Let24E] 13,928 15,475 A 1,547
01 At 22l 13,928 15,475 A1,547
ORTRMA =2 L SI+42
100,000& = 1352 Xl 13,500
OSKMLH(HARX) H2(0H2)ol e 23
Bt 242 S 4275002 *14] 428
SEXINL 3,707,052 12,063,425 A 8,356,373
s 764,000
< 143,000
Al




EXN: A4
NI XEHY L GFA A
Sl sEX Y (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
I ZMED|BHE S 1,055,000 9,158,000 A 8,103,000
Fag 764,000
& 143,000
Al 148,000
201 gEt24dy| 10,000 20,000 A 10,000
= 3,000
Al 7,000
03 A2 G H| 10,000 20,000 A 10,000
Ol AL =R (MHXSH &HA)
10,000,000 » 1Al 10,000
& 3,000
Al 7,000
401 AlEHIZL 201 Y| 1,045,000 9,138,000 A 8,093,000
g 764,000
= 140,000
Al 141,000
01 Al&H| 1,038,700 8,623,000 AT7,584,300
oY= =d 9 AR HHI ALY
500,000 *1,000m 500,000
Fag 400,000
= 50,000
Al 50,000
O XN H=E HHIALE
538,700,000 » 1Al 538,700
Fag 364,000
& 90,000
Al 84,700
03 AlE 201 | 6,300 15,000 A 8,700
OSHEEMHLAY =X
1,000,000,000& *0.63/100 6,300
FOI=2AAS 902,052 2,049,845 N 1,147,793
305 HHA2S 15,000 15,000 0
01 A Z2S 15,000 15,000 0
OASN HE 2EY0IS2 € AsSHES 4
5,000,000& x221 10,000
O=Jta & A3 H20 2 Editia=
2,500,000 x224 5,000
401 AlEHIZL 201 Y| 887,052 2,012,131 N 1,125,079
01 Al&H| 885,000 2,007,500 N 1,122,500
OSE g S$9xssn S&2 HEAMY
100, 000& = 150m 15,000
ogte g &= 2 2 Hiz== HHIZ2AH
100, 000-& *500m 50,000
Os2dg JIXAlel B2A0IIHE 43 =2 &
Hl S At 350, 000& *200m 70,000
OsAUS M| OIS0t IIE DA}
100, 000-& *500m 50,000
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A R =y
M NS 2 ot&ZH
Sl sEX Y (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsYsS el st ZTEHIA
100, 000& *500m 50,000
O | (A M2 HELZIA
500, 000& *200m 100,000
O Az2e| OtS32 FUHERX ZES
At 500,000& »40m* 20,000
OUS XY SHel ottt HUIZA
100, 000& *250m 25,000
OFZ0DIYH Sdel 0S¢ JtEd g EXSA
80, 000& *250m 20,000
OF0IY Hyel oSz & =2 FHl SA
100, 000& *200m 20,000
OZF0IYH 42l OtSt2 HH & =2 FH
S A 100,000& *100m 10,000
O HMFI2 01232 Y L HEFTA
200,000& *150m 30,000
OXEH FAL(ZE4sH 0IHEZ) =2
ZHIS A 100, 000& *250m 25,000
OSaH gl OS2 JtEdl e EXSA
100, 000& *200m 20,000
O&4tH Ji3el DSt SZEIA
250,000& *200m 50,000
OsMH K32 = FHISAM
100, 000& *500m 50,000
OSAH AHel ot HE S A
100,000& =100 m* 10,000
OLEIS +HETAL (HL=T)
1,000,000& *70m 70,000
ootserd & s2 UIIXz dX3A
10,000,000 *209H 2~ 200,000
03 Al 2 THHI 2,052 4,631 A2,579
OFQ=J A =& 285,000,000& *0.72% 2,052
HXE AT W A8 I A 1,500,000 0 1,500,000
401 A& HIZ 201 8] 1,500,000 0 1,500,000
01 A& HI 1,500,000 0 1,500,000
OHRXE Az AL IZA
1,500,000,000& =1 & 1,500,000
g A2+ 250,000 251,800 A 1,800
401 Al HIZ 201 I 250,000 251,800 A 1,800
01 A& HI 250,000 250,000 0
OoHYHEWE FIIFZE & RANE=>
25,000,000& *109H £ 250,000
ot & FHl 8,668,940 10, 163,584 A 1,494,644
= 650,000
< 3,212,500
Al 4,806,440




EXN: A4
NI XEHY L GFA A
Chl: olE A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AOIEEHIAIY XIR(HMEH) 2,006,750 2,800,000 A 793,250
401 AlEHIZL 201 Y| 2,006,750 1,800,000 206,750
01 A& H| 2,000,000 1,793,600 206,400
OZLUAGHE HUI ZAH(EEH)
500,000,000* 104 &~ 500,000
OJIStAGHE HHIZAHEEH)
1,000,000, 000 1JH 2~ 1,000,000
OJtst Aol wWEAX| 500,000,000 » 14! 500,000
03 Al 20| 6,750 6,400 350
O=LAGHE "HIZ2AH =& (HEH
500,000,000%0.63% 3,150
©OJI&+AGHE "HIZ2AH =& (HEH
1,000,000,000%0.36% 3,600
2R KNEE 2,040 1,680 360
201 LBt ]| 2,040 1,680 360
02 2=2=24%H| 2,040 1,680 360
OHl=2 &IIAIERES 170,000%12& 2,040
MEHSIE S KA ALY (X &) 120,000 2,803,334 AN 2,683,334
401 Al HI L £ 0HHI 120,000 2,803,334 AN 2,683,334
01 Al& H| 120,000 2,413,334 N2,293,334
O MENCIE SJAY AFZ2t2]
120,000,000 =10 A 120,000
N & - ALY 328,000 583,575 A 2h5,575
401 AlEHIZL 2 0HY| 328,000 583,575 A 25h5,575
01 Al&H| 328,000 582,000 A 254,000
osds A6t &AH| 500, 000& *200m 100,000
O=2el M&EAEHl S A 80, 000& »600m 48,000
OEEs T=2¢ MEEHAIZE 250,000 *200m 50,000
OsNH 223 & AUl 3 A 500,000 =160m 80,000
OSMH MHE AH BLZ2A
500,000 =100m 50,000
Ao RANE S 136,282 336, 282 A 200,000
101 e1214| 136,282 136,282 0
04 JI2ZtHIZ22NEES 136,282 136, 282 0
OdlE KA &e 2AH 81,1203 x14¥ x 120 136,282
NS R L % 120,868 407,388 A 286,520
101 124 H] 4,868 4,868 0
04 JI2ZtHIZ2 2 NEE S 4,868 4,868 0
Oodld 2 HA o2 81,120 60 4,868
401 Al HI L £ 0HHI 116,000 402,520 A 286,520




SH ALY
M NS 2 ot&ZH
chel: shE | CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 116,000 400,000 A 284,000
ODN=ReHA dtEL JtEd el AlH
250,000 *200m 50,000
OYaA sz HH| 600,000 *100H & 6,000
OXNYsHE RANES(0=, &4, NESE=>
g) 20,000,000 *3H 2 60,000
SHEIE = & |Xl2el 1,305,000 270,000 1,035,000
< 612,500
Al 692,500
401 Al B2 28I 1,305,000 270,000 1,035,000
< 612,500
Al 692,500
01 A& HI 1,305,000 270,000 1,035,000
OYdA Q2= HYl L HSGHX S A
100,000& *1,500m 150,000
< 75,000
Al 75,000
oXgsotd F=MHA & ==
1,000,000& %37 .5km*4 3| 150,000
< 75,000
Al 75,000
OXgotd a2 FLEY ¥ U (Fd, g8
H ERE AIZE S) 30,000,000 * 100 £ 300,000
< 150,000
Al 150,000
OYdA EHE &4 S At 80,000,000 *4km 320,000
S 160,000
Al 160,000
OAM=& ERE =& ZA 50,000,000 *4km 200,000
< 60,000
Al 140,000
OotEAIE E22Z A 21,250,000 <404 £ 85,000
< 42,500
Al 42,500
OAxctd KX 2el 2,000,000 *500H 2 100,000
< 50,000
Al 50,000
2ot R AES=(BLAHA) 650,000 0 650,000
= 650,000
401 Al HI 2 2O HI 650,000 0 650,000
= 650,000
01 A& HI 650,000 0 650,000
O=Jtotd (W) FANES
100,000& *1,500m+500,000,000& 650,000
= 650,000
M3& Xgotd HUl A (M 2t) 4,000,000 1,953,325 2,046,675
< 2,600,000




EXN: A4
NI XEHY L GFA A
el GtE I (29l 8)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,400,000
401 AlEHIZL £ 0HY| 4,000,000 1,953,325 2,046,675
= 2,600,000
Al 1,400,000
01 Al&EH| 3,896,000 1,729,325 2,166,675
OANYA Xleold HHAMY(ZE XE0I)
3,896,000,000& = 1JH A&~ 3,896,000
= 2,532,400
Al 1,363,600
02 22|l 100,000 214,500 A 114,500
OMEE NLoHE THIAY AL AL B2 B(
nE Xgol) 100,000,000 =104 &~ 100,000
& 65,000
Al 35,000
03 AlE 21| 4,000 9,500 A5,500
OMRE XYotd JUIAY =W(RS Kol
2F) 3,896,000,000< 0. 1/100+104, 000 4,000
& 2,600
Al 1,400
SEMEEA Dt =25 12,463,379 14,499,449 N2,036,070
& 3,269,500
Al 9,193,879
SHI|BIAIE &= 4,355,000 4,570,000 A 215,000
& 2,411,500
Al 1,943,500
S|P RH ALY (M EH) 650,000 1,250,000 A 600,000
& 559,000
Al 91,000
401 A& HI L 20l 650,000 1,250,000 600,000
< 559,000
Al 91,000
01 Al&H| 650,000 1,250,000 A 600,000
OS84Ys A7 LICHHEHIAI (HEH
300,000,000 *1JH & 300,000
= 258,000
Al 42,000
OWSKNH X2X P LIEHEHI ALY (M EH)
350,000,000 *1JH & 350,000
& 301,000
Al 49,000
motst22d XM 3,300,000 1,930,000 1,370,000
== 1,650,000
Al 1,650,000
401 A& HI L 20l 3,195,000 1,170,000 2,025,000
= 1,597,500
Al 1,597,500
01 Al&Hl 3,195,000 1,170,000 2,025,000




2N
X ZH -
L= B

el

= =

Jon \J

I
O

O

A - ER(EN) - AR - B of & o4 SSa HIDZ2
osdd 2sel th=2 HHISA
100,000& * 500m 50,000
S 25,000
Al 25,000
osdH dite| th=2 HEISA
100,000& * 900m 90,000
= 45,000
Al 45,000
O%HdH IHel =2 FHISA
100,000& * 900m 90,000
= 45,000
Al 45,000
OHEH APJIA2 Hi=2 FHISA
100,000& * 400m 40,000
S 20,000
Al 20,000
osdH oSl th=2 HHISA
100,000& * 300m 30,000
= 15,000
Al 15,000
OHdH da2el =2 ZHISA 20,000
S 10,000
Al 10,000
OX=H FNge == ZFHISA
100,000& = 1,000m 100,000
< 50,000
Al 50,000
OF0IH el S+ FHIAY
100,000& * 400m 40,000
S 20,000
Al 20,000
O&sds Jtuel th=2 FHlISA
100,000& * 800m 80,000
< 40,000
Al 40,000
Os4E 22 S+Z JHISA
100,000& * 500m 50,000
< 25,000
Al 25,000
Os4tH gite] =2 FHISA
100,000& * 300m 30,000
< 15,000
Al 15,000
OS4tH Sate| =2 FHIS A
100,000& * 300m 30,000
< 15,000
Al 15,000
Os4H gate] =2 FHISA
100,000& * 250m 25,000
< 12,500
Al 12,500




SN HED
Hu: SEMBHY Y HE
& SYIBAIE &5
x = - 4 14
SN FH-SA(EN) - MBAY - BES 0l &k o4 e
o
Os&H 22| =2 ZHISAM
100,000& * 1,500m 150,000
= 75,000
Al 75,000

Os4H Sl S ZHISA

100,000& * 300m 30,000
S 15,000
Al 15,000

Os4E T22 S+ ZHISA

100,000& * 300m 30,000
S 15,000
Al 15,000
O&4H K32 s2ZH L == S M
100,000& * 500m 50,000
& 25,000
Al 25,000

OsAS BHEL =2 FHISAM

100,000& * 2,000m 200,000
& 100,000
Al 100,000
Os52AS =2 FHIS A 100,000& * 2,000m 200,000
< 100,000
Al 100,000
O=dd Lidtel == ZHISA
100,000& * 400m 40,000
< 20,000
Al 20,000

©
M
0x
e
(=]
o
o

== ZHISA

10,0008 * 500m 50,000
< 25,000
Al 25,000

O=s BA12 A2 FUISA
10,0008 * 500m 50,000
= 25,000
Al 25,000

O=s BA22 A2 FUISBA
10,0008 * 500m 50,000
= 25,000
Al 25,000

O=&M 2432 A2 FUISA
10,0008 * 400m 40,000
= 20,000
Al 20,000

O=HY WD 842 HYIBA
10,0008 * 500m 50,000
= 25,000
Al 25,000

OMBH Haozl 242 DA
10,0002 * 400m 40,000
= 20,000
Al 20,000




A AL
Hu: SEMBHY I 25
el =sZIIBtAIE &=
) _ i, rJEN-S
SN EE B (BH) - HRAY - BES 0l & el
o

OXlEH &2 2 ZA

100,000& * 1,000m 100,000
& 50,000
Al 50,000

OdEH xUel =2 SAt

100,000& * 400m 40,000
S 20,000
Al 20,000
OLBEH BHel St=s2tH ALY
100,000& * 300m 30,000
S 15,000
Al 15,000
OEEE dscl Eti+=2 S M
100,000& * 1,000m 100,000
& 50,000
Al 50,000

oBHEs US2 EHLE B

10,0008 * 3,000m 300,000
< 150,000
Al 150,000
OBHYE Mol BHAE BA
10,0008 * 1,500m 150,000
< 75,000
Al 75,000
02N BT2| BHLE A
10,0008 * 800m 80,000
< 40,000
Al 40,000
02U MH2~LR2 U W2 FU AL
10,0008 * 3,000m 300,000
< 150,000
Al 150,000
osHg 2ol BHAE BA
10,0008 * 400m 40,000
< 20,000
Al 20,000
oges =32l 8H+E TA
10,0008 * 400m 40,000
< 20,000
Al 20,000
oscg aszel B8H+E A
10,0008 * 400m 40,000
= 20,000
Al 20,000
oseg 4=l B8H+E A
10,0008 * 400m 40,000
< 20,000
Al 20,000
ogcg Z2¥el 8HEE IA
10,0008 * 400m 40,000
= 20,000
Al 20,000




A A&
HE: SEMEHY O =5
B sgIIBAIE &= (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OEdg A2l StHix==2 Z2At
100,000& * 400m 40,000
< 20,000
Al 20,000
Og4s T sth=2 SAt
100,000& * 400m 40,000
< 20,000
Al 20,000
O8d g o2l StHix==2 2Ak
100,000& * 400m 40,000
[ 20,000
Al 20,000
OEE g Wsel Stix==2 2AF
100,000& * 400m 40,000
< 20,000
Al 20,000
OEE s MXel 242 ZAt
100,000& * 400m 40,000
[ 20,000
Al 20,000
OEE g olEel StHix== 2At
100,000& * 400m 40,000
= 20,000
Al 20,000
403 XX S M S K201 A 105,000 760,000 A 655,000
= 52,500
Al 52,500
02 BI2SHUESXE2ERAEAISHI 105,000 760,000 A 655,000
OsYSH &4 YAML(HSXY, S22
2) 40,000,000 1A 40,000
[ 20,000
Al 20,000
OUsXNH Zolel S22 &8 HAEAMY
100,000& = 650m 65,000
[ 32,500
Al 32,500
eI sUELNY 405,000 960,000 555,000
= 202,500
Al 202,500
401 AlEHIZL 2 0HY| 225,000 0 225,000
= 112,500
Al 112,500
01 Al&H| 225,000 0 225,000
OHAH M=K SESA 25,000,000 25,000
o= 12,500
Al 12,500
Ogll2s 8918 sgs2 L AdZE &
A 200,000,000 *1Jf A& 200,000
o= 100,000
Al 100,000




EXN: A4
MY SEMEHY Y 25
S9l: SIIBAIL =B EERED
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 & 180,000 960,000 A 780,000
== 90,000
Al 90,000
02 BI2SHUESX=2EAEAISHI 180,000 960,000 A 780,000
Oz HER BHHME S2F LXAL
180,000,000 =104 & 180,000
&< 90,000
Al 90,000
SEZTENY 8,108,379 9,929,449 N 1,821,070
= 858,000
Al 7,250,379
JIZMEQITRH(I|HEAEZ)(HE) 1,605,400 2,957,385 A 1,351,985
= 50,000
Al 1,555,400
401 Al EHI L 204 HI 1,605,400 1,257,385 348,015
o 50,000
Al 1,555,400
01 A& H| 1,600,000 1,253,000 347,000
O (AA HHE)KT JIHSIBIEZ S ILEA
(X&) 100, 000& *970m 97,000
ogd (o2 )X JIHIFZBER ST EAIA(
& &) 100, 000& *610m 61,000
oz (22, U)X JIHSERZ SHEIA
(X&) 100, 000& *700m 70,000
O (D)X F JNHIIEHZ SEEAY (M
&h) 100, 000& *1,000m 100,000
ODNM(EAET =, =26)XP JHSFZIEHZ &
TAANS (HEH) 100, 000& *880m 88,000
ODNMH(ZRENKF JHIFZER SEEAIH(
& &) 100, 000& *770m 77,000
ONS(ZSE )X JIHZZBER ST EANA(
& &) 100, 000& *900m 90,000
ONS(NZ2NX T JHSIBEZ SHEIAS(H
&h) 100, 000& *670m 67,000
ON2(NE2)X T JIHSBEZ SHEIAS(H
&h) 100, 000& *750m 75,000
ON2(N2)XNF JIHIIEHZ SEEAY (A
&h) 100, 000& *500m 50,000
OSSR (HEM)XF JIHZZBER ST EANA(
& &) 100, 000& *960m 96,000
OUNWS K (AL, Z2)XP JIHSZEZE SFHLE
AP (& 8 100, 000& x1,000m 100,000
OSSR (BE)XNF JIHZZBER ST EANA(
& &) 100, 000& *330m 33,000
OFO|I (I, BE)X P JIHSIBXZ S ILEA
A (N &) 100, 000& *310m 31,000
OHAE(ZES )N JHIIEHZ SEZEHAY (A
&h) 100, 000-& *200m 20,000
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A R =y
HE: sEMEHY O 25
ool SESENEY (S &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ozd(2e)X7 JHSEEZ ST HAMY (N
g) 100, 000& *320m 32,000
ORL(BEF)XZ JIHSEEZ ST HAMY (N
&) 100, 000& *540m 54,000
ORY(UHB AL AME)NF JNAHFBEZ &L
ALY (& &) 100, 000& *450m 45,000
OXMHE(HL)XIF JNAHSBEZ SHLEANY(H
&) 100, 000& *700m 70,000
OXNE(SAE)XT JHSIEZ SZEHAMY (N
&) 100, 000& *800m 80,000
OB (RH,2=)AF JAHSBHZ LA
(&8 100, 000& *820m 82,000
OSL(S2)XF JNAHSSEZ SHLEAMY(H
&) 100, 000& *460m 46,000
OEAIS(RF)NT JAGBHZ SELIA(
HE) 100, 000& *360m 36,000
OMEH Hatel Ei+=2 HH ¥ s2EZES
At 100,000, 000& 100,000
= 50,000
Al 50,000
03 Al 2 THHI 5,400 4,385 1,015
OJAHZEZE ZTEHIAMN FX(HE)
1,500,000,000& *0.36% 5,400
w=clH =c2lAlE RX2e X 250,000 250,000 0
402 2I2H X201 M 250,000 250,000 0
01 2IZE 2 A B (KR ) 250,000 250,000 0
O=clH =2lAl4d S22l XA (350HA)
1,000, 000& *2500H 2~ 250,000
==& SX2el 250,000 100,000 150,000
403 A X EHHSXH=0l A 250,000 100,000 150,000
02 SO 2SOICHEH A2 X 2| & A I 250,000 100,000 150,000
o= (M, 22) A2
125,000,000 *20H A 250,000
A2 SSIBAIE AL 3,380,679 3,917,724 A 537,045
201 YEt2 | 11,300 12,500 A1,200
01 At 22l 9,500 10,500 A 1,000
O=d& Kot == A 100,000& *502] 5,000
O=HMLD|IEHHEYl &K BE S S€8¥+=2
100,000& =183 1,800
OAY=Z HMI|HH HHEA
1,350,000 *20H 2= 2,700
03 A2 Z Hl 1,800 2,000 A 200
©20213 M=a=X HIAUH™MES (200 L)
900,000 *2H A~ 1,800
401 Al HI K 201 I 3,369,379 2,674,224 695, 155




A R =y
HE: SEMEHY U =5
Cel =EZENY CEIED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 3,365,000 2,670,500 694,500
osges Bl == HUISA
100, 000& *300m 30,000
OEHEE dAel Et+==2 FHISA
100,000& *3,000m 300,000
O&4E Suel =2 ZHISAM
100, 000& *900m 90,000
O3Y4S dli2el =FuE WHSA
50,000,000 =14l 50,000
0Osds snel s2ZFE ZA
100, 000& *900m 90,000
oOsds ==el == HHIZA
100, 000& *300m 30,000
ONUY HEel =2 & 2 =2 ZFHISA
100, 000& *400m 40,000
ONUYH drZe| sZTEE A
100, 000& *300m 30,000
ONUH H&2l(497) s2ZE S A
100, 000& *300m 30,000
OLNCHH Z&el(1249-301) s 2EH SA
100, 000& *300m 30,000
ONHYH HE22 =2 EXSA
100,000& *100m 10,000
ONUH Hatze| =2 FHISA
100, 000& *200m 20,000
ONUHY =eiel s EE A
100, 000& *200m 20,000
ONUH &322l == JHISA
100, 000& *300m 30,000
O FAE3e S22 FHISA
100, 000%2, 000m 200,000
ONHY HetHel~-UEel =2 EE SAM
100, 000& *250m 25,000
ONHH 812l =F W AESA
135,000,000 *1JH £ 135,000
O&EZH SF2cl =2 HHISA
100, 000& *450m 45,000
ON=ZH =2t =2 FHHISA
100,000& *1,000m 100,000
oUsX Tolz2el dlsM=X JHHII ZEH %
EEAS 100, 000& *300m 30,000
OFOIH Sl == FHISA
100, 000& *500m 50,000
OF0IH S42l == FHISA
100, 000& *400m 40,000
OZFOIH R4t2| =2 HHI S A
100, 000& *200m 20,000
OZF0IY otdel =2 HMBAA Y OtAZE SHM
SIS A 100, 000& *500m 50,000
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EXN: A4
HE: sEMEHY O 25
CHolr SEEENY (e &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O=HdH™ 222| == HH|IZ2At
100, 000& *400m 40,000
O=HH 2422 B2 AUl ZA
100, 000& %3, 000m 300,000
ORXUMH JM=EZ| ~ 2EZ| OlAR TMR2)| Z A}
100, 000-& »300m 30,000
oxNZEH A2 Hi£==2 Adl 100,000 *400m 40,000
OKXEH A2 =3 HHIZBAH
100, 000 x700m 70,000
OAZEHH =H12| =2 EHIZAH
100, 000 = 150m 15,000
OAEHH AE?22 =2 EHHIZAH
100, 000 *200m 20,000
OXNEH MBS sgEE=2 HEZ2AH
100, 000 x700m 70,000
OBNH 212 S+ Ul SA
100, 000 =400m 40,000
OSBNH EHE E243 HHIZBA
100, 000 *200m 20,000
OSBMH 222 A6td & S += =3
At 100, 000 *500m 50,000
OSBNH 22| =3 HH|IZBAH
100,000 = 1,000m 100,000
O&sMH S22 s & 2 =2 AUl Z2A
100, 000 *300m 30,000
OsAMH K22 22 L HI=2 B2 A
100, 000 *300m 30,000
OSAtH 222 0FAE M2 D| 2 A
100, 000 *400m 40,000
OXNUH =8l == HHIZBAH
100, 000 »200m 20,000
OSNH AEC =3 FHHIZBAH
100, 000 = 100m 10,000
OYE3IE RF28 E+= HHIZ2AH
100, 000 *300m 30,000
OdEZ2YXZH =& 5,000& x2,000m 10,000
O3&Z AM2IBEE & S22 =4
300,000,000& = 1Al 300,000
OALTHE £ClAld HE=AS
21,500, 000& 100 & 215,000
O=sgIIBAIE B2 2AIY
10,000, 000& * 1000 & 100,000
oXgae gXH Ex22AH
20,000,000& *204 &~ 40,000
OXIoty Y& XA L Al=22I2A
2,500,000 *204 &~ 50,000
OXNZE=X Di==2XE24 200,000,000 « 1Al 200,000
03 AlE 21| 4,379 3,724 655




A R =y
B sEMEZ 0 25
oo sESENY (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAL72 sYIIELAIEMY =&
695,000,000& *0.63% 4,379
H=SZHAAS 1,616,000 425,000 1,191,000
< 808,000
Al 808,000
401 Al HI K 201 I 1,616,000 425,000 1,191,000
< 808,000
Al 808,000
01 A& HI 1,616,000 425,000 1,191,000
0s%S =22 SREFTA
100,000& * 800m 80,000
< 40,000
Al 40,000
oMW EX2 SREIDA
100,000& * 1,000m 100,000
< 50,000
Al 50,000
ODY HER SRETTA
100,000& * 900m 90,000
S 45,000
Al 45,000
Ogd2s 28 Otst2 XY =2 &
Hl AHS 100,000& *2,500m 250,000
= 125,000
Al 125,000
OUS XY sHel DSt SHIA
100,000& * 260m 26,000
< 13,000
Al 13,000
OsMH =22 02tz B3 A
100,000& * 400m 40,000
= 20,000
Al 20,000
ONMHY Azl Dttt SHEZEIA
100,000& * 1,200m 120,000
< 60,000
Al 60,000
oOsds 3el ST EZEIA
100,000& * 500m 50,000
< 25,000
Al 25,000
O&4H T 22| DS ZE I A
100,000& * 3,000m 300,000
< 150,000
Al 150,000
OUAEH Ssie] E2EHET S M
100,000& * 1,000m 100,000
< 50,000
Al 50,000




2N
X ZH -
L= B

el

O o ¥
M rhe 0z
0Bt 0z &
0o i
=2 iy
T oy
S
«
Jov
Ofh

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O&4H 22| T2EEHIA
100,000& = 300m 30,000
= 15,000
Al 15,000
OZ4H S22 OFA2HM RIS A
100,000& = 300m 30,000
< 15,000
Al 15,000
oY% Hiel SREE SA
100,000& = 500m 50,000
= 25,000
Al 25,000
Ox4Y 2217 S2HEY JA
100,000& = 400m 40,000
< 20,000
Al 20,000
O=MY H=2| OIARLETA
100,000& = 500m 50,000
= 25,000
Al 25,000
OzdH =252 2IAUEZESAM
100, 000& = 500m 50,000
< 25,000
Al 25,000
OXNEH A2 s ZE SA
100,000& *300m 30,000
< 15,000
Al 15,000
OdEHH OHate] AIBEC ¥ ZHSA
100,000& *800m 80,000
< 40,000
Al 40,000
OEHEs 2t sZ2EE ZA
100, 000& *300m 30,000
< 15,000
Al 15,000
Os&%ds JIXAel HMsX B 2 E3A
70,000,000& » 14! 70,000
< 35,000
Al 35,000
Jl=MEolTeH(MEstA Y )(HE) 1,006,300 1,811,340 A 805,040
401 Al& Bl 28I 1,006,300 1,811,340 A 805,040
01 A& HI 1,000,000 1,800,000 A 800,000
OnMe SEMBHAFHAL(HE)
200,000,000& =100 AH 200,000
OSYY SEMHHAFYIAL(H )
600,000,000& =101 AH 600,000
OtEH SZEHESITIHIAL (HE)
200,000,000& =100 AHE 200,000
03 AIE 2 0HHI 6,300 11,340 A5,040




®
oF
WM

0

i

o)

~

RO 3

__L% =

ol mmu

Z0 Ko

KK

H0 Ho

2 o

R0 UJ

[aN)
no 492
Klo 0,4,@&2
E mmo,z,% o
i A144, b
© |o i
AA o | O
-
24
AEIEIE
H3r 4,624
< 8%4.8%
am 3 = 2|
= 3 i |
g|s 1L
S ;0
© | ™ @ S |8
3 ? 1<
N
| w
02
332
v132
6v4|3n/._
2 umnwmz
w 74,5mmo
: 7n7,,2so
= zm_/,ro,%%o
1%4,5,mmoo
34;00
36v000
SS,G,WMWO
g g ,40w
Sle § 2
8
S
©
v
@ |58 1 :
.aﬂy I* o
. ol 80 :
2 g S : i * %_
1 [= 2 . 2 %
1 8 0 g
.Ax_% nn 5 * o oml
”=_| _zTO m%oﬁ_.w_ 3 - I*q n/._olg
= —_ © 9 £ : oT_ 1
= HO, g g % i
)I 0 | 5 y OO
ml.,.u % % 2 | :
%0 ) 1 | .
o] :
W\ﬁo 1
_,_,L& )
oo [® = m E !
o | T : § | mo
a | W . a Mm_mw_ 5
T g _| |H
: @ U\_ :|s _ - il KF E_” Q) OKF - o T
. = lor_rtA_. p : ,_A_. ¥
= = | 3 ST ) B |D F 3D i '
: i |8 5 g w <+ | R 1 B0 o | o 0 <F 0
o+ =R AR i 11 ] :
_JoL.<I © : : : _H__v
OB RS — = 3 a 3z b X : :
4.5._._|20 : _u_v.rﬂto _.,ho :
xoﬂo___ 21©SEDJEJA|M~§§%
ﬂo i 3j@wAu_-_u__”:gﬂ_\mb
%m T@|ﬂﬁmﬂﬁ%
4 RM| R S
3 45@@
= |z
20




